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Instructions

® Use black ink or ball-point pen.

® Fill in the boxes at the top of this page with your name,
centre number and candidate number.

® There are two sections in this question paper. Answer all questions from
Section A and EITHER Question 4 OR Question 5 in Section B.

® Answer the questions in the spaces provided
— there may be more space than you need.

Information

® The total mark for this paper is 64.
® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

® Read each question carefully before you start to answer it.
® Try to divide your time equally between each section of the question paper.
® Check your answers if you have time at the end.
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SECTION A: Spain and the ‘New World;, c1490-c1555
Answer ALL Questions in this section.

1 Explain two consequences of the Spanish settlement in the Caribbean in the years
1496-1512.

Consequence 1:
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(Total for Question 1 = 8 marks)
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2 Write a narrative account analysing the key events of the Spanish conquest of Cuba.

4 N
You may use the following in your answer:

- Veldzquez's voyage
. plantations

You must also use information of your own.

P 5 6 2 7 9 A 0 4 3 2

58O
AT S
V.S

)

oo
T |
v

S

&

RSB

L

<
chtels
\\ \\ .

e
oeteles ,o”
%

0
N

e
*&

o
2

5

5

5




S

S
5

D
\R

@

e

-

ER.

USAREA <

I At e b e e
i gv

L Th

o

LR iy
HONEWRIES:

s
R

pom

o

b

MR

e

s

R

(Total for Question 2 = 8 marks)
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3 Explain two of the following:

« The importance of Queen Isabella’s sponsorship of Columbus for Spanish
exploration. Nl
(8) ot

T
i

« The importance of Montezuma'’s actions for the Spanish conquest of Mexico. =
(8) S

« The importance of the siege of Cuzco (1536-37) for the Spanish conquest of Peru. ';
(8) ‘E

(Total for Question 3 = 16 marks) ‘iw
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4 )
Indicate your FIRST choice on this page.
Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £< and then indicate your new question with a cross [X.
[J The importance of Queen Isabella’s sponsorship of Columbus for Spanish
exploration.

[J The importance of Montezuma’s actions for the Spanish conquest of Mexico.
[J The importance of the siege of Cuzco (1536-37) for the Spanish conquest of Peru.
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4 )
Indicate your SECOND choice on this page.
Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £< and then indicate your new question with a cross [X.
[J The importance of Queen Isabella’s sponsorship of Columbus for Spanish
exploration.

[J The importance of Montezuma’s actions for the Spanish conquest of Mexico.
[J The importance of the siege of Cuzco (1536-37) for the Spanish conquest of Peru.
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(Total for Question 3 = 16 marks)

TOTAL FOR SECTION A =32 MARKS
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SECTION B: Tudor depth options
Answer EITHER Question 4 OR Question 5.
EITHER
Option B3: Henry VIIl and his ministers, 1509-40
Question 4 Page 13
OR
Option B4: Early Elizabethan England, 1558-88

Question 5 Page 23
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[ Option B3: Henry VIl and his ministers, 1509-40 ]

If you answer Question 4 put a cross in thebox [ .
Answer Question 4(a), Question 4(b) and EITHER Question 4(c)(i) OR Question 4(c)(ii).

4 (a) Describe two features of the Eltham Ordinances.
(4)

Feature 1

. J
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(b) Explain why the Pilgrimage of Grace took place.
(12)

4 )
You may use the following in your answer:

- inspection of the monasteries
- enclosure

You must also use information of your own.
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( )
Answer EITHER Question 4(c)(i) OR Question 4(c)(ii).
EITHER
(c) (i) ‘The main reason for Wolsey’s rise to power was that he was a good organiser!
How far do you agree? Explain your answer.
(16)
( )
You may use the following in your answer:
. expedition to France
- Royal Almoner
You must also use information of your own.
_J
OR
(c) (ii) ‘The reform of the Privy Council was the most important change to
government made by Cromwell!
How far do you agree? Explain your answer.
(16)
( )
You may use the following in your answer:
- Privy Council membership
- The Council of the North
\You must also use information of your own.
_J
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Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £< and then indicate your new question with a cross [X.

Chosen question number: Question 4(c)(i) [ Question 4(c)(ii) []
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(Total for Question 4 = 32 marks)
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[ Option B4: Early Elizabethan England, 1558-88 ]

If you answer Question 5 put a cross in thebox [ .
Answer Question 5(a), Question 5(b) and EITHER Question 5(c)(i) OR Question 5(c)(ii).

5 (a) Describe two features of Elizabeth’s religious settlement (1559).
(4)

Feature 1

. J
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(b) Explain why there was an increase in exploration in the years 1558-88.
(12)

4 )
You may use the following in your answer:

- navigational aids
«  luxury goods

kYou must also use information of your own.
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( )
Answer EITHER Question 5 (c)(i) OR Question 5 (c)(ii).
EITHER
(c) (i) ‘The effective use of naval tactics was the main reason for the English victory
over the Spanish Armada!
How far do you agree? Explain your answer.
(16)
( )
You may use the following in your answer:
. fire ships
- bad weather
kYou must also use information of your own.
J
OR
(c) (ii) ‘There was little change in attitudes towards the poor in the years 1558-88!
How far do you agree? Explain your answer.
(16)
( )
You may use the following in your answer:
- Houses of Correction
. the deserving poor
KYou must also use information of your own. )
J
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Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £< and then indicate your new question with a cross [X.

Chosen question number: Question 5(c)(i) [ Question 5(c)(ii) []
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(Total for Question 5 = 32 marks)

TOTAL FOR SECTION B =32 MARKS
TOTAL FOR PAPER = 64 MARKS
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